Note on derivations of lattices

Mayuka F. Kawaguchi Graduate School of Information Science and Technology Hokkaido University

> Michiro Kondo School of Information Environment Tokyo Denki University

Abstract

In this paper we consider some properties on derivations of lattices and show that (i) for a derivation d of a lattice L with the maximum element 1, it is monotone if and only if $d(x) \leq d(1)$ for all $x \in L$ (ii) a monotone derivation d is characterized by $d(x) = x \wedge d(1)$ and (iii) simple characterization theorems of modular lattices and of distributive lattices are given by derivations.

1 Introduction

A notion of derivations of algebras with two operations + and \cdot has introduced as an analogy of derivations of analysis and then some properties of derivations are considered. For an algebra $A = (A, +, \cdot)$, a map $f : A \to A$ is called a derivation if it satisfies the conditions: For all $x, y \in A$,

$$f(x + y) = f(x) + f(y)$$

$$f(x \cdot y) = f(x) \cdot y + x \cdot f(y)$$

The notion of derivation is important in the theory of rings ([5]). After that, it is applied to lattices ([4]), where operation + and - are interpreted as lattice operations \vee and \wedge , respectively. Following the naive interpretation, the derivation d of a lattice L may be defined by

$$\begin{array}{ll} (a) & d(x \lor y) = d(x) \lor d(y) \\ (b) & d(x \land y) = (d(x) \land y) \lor (x \land d(y)). \end{array}$$

As proved in [4, 6], the condition (a) says d to be monotone and then the condition (b) is equivalent to the condition $d(x \wedge y) = d(x) \wedge y$. Hence, as proved later, a monotone derivation $f: L \to L$ is characterized by $f(x \wedge y) = f(x) \wedge y$ for all $x, y \in L$. It follows from the result that a monotone derivation d has

the form of $d(x) = x \wedge d(1)$ if L has the maximum element 1 and thus every monotone derivation is determined completely by the value d(1).

In order to obtain more interesting properties of derivations of lattices, we adopt another definition of derivations according to [1, 2, 3, 7] and prove some fundamental properties of them, from which we get new results about derivations of lattices and provide accurate statements described in [1, 2, 3, 6, 7]. Moreover, we consider properties of generalized derivation ([1, 2]).

Concretely, we prove that

(i). For a derivation d of a lattice L with a maximum element 1, it is monotone if and only if $d(x) \le d(1)$ for all $x \in L$.

(ii). A monotone derivation d is just the form of $d(x) = x \wedge d(1)$.

(iii). For any lattice L and a derivation d, the condition

d is monotone $\Leftrightarrow d(d(x) \lor y) = d(x) \lor d(y) \ (\forall x, y \in L)$

is equivalent to that L is a modular lattice.

(iv). For any lattice L and a derivation d, the condition

d is monotone $\Leftrightarrow d(x \lor y) = d(x) \lor d(y) \ (\forall x, y \in L),$

is equivalent to that L is a distributive lattice.

2 Derivations

According to [6, 7], we give a definition of derivation of a lattice. Let $L = (L, \vee, \wedge)$ be a lattice. A map $d: L \to L$ is called a *derivation* of L if it satisfies the condition

$$d(x \wedge y) = (d(x) \wedge y) \lor (x \wedge d(y)) \quad (\forall x, y \in L)$$

Moreover, a derivation d is called *monotone* if

$$x \le y \Rightarrow d(x) \le d(y)$$
 $(\forall x, y \in L).$

We note that the notion of monotone is called isotone in [1, 2, 3, 7])

Example 1. Let *L* be a lattice and $a \in L$. If we define a map $d_a : L \to L$ by $d_a(x) = x \wedge a$, then d_a is a monotone derivation. Indeed, for all $x, y \in L$, we have $d_a(x \wedge y) = (x \wedge y) \wedge a = ((x \wedge a) \wedge y) \vee (x \wedge (y \wedge a)) = (d_a(x) \wedge y) \vee (x \wedge d_a(y))$.

Example 2. ([3]) Let $L = \{0, a, b, 1\}$, (0 < a < b < c < 1). We define $d: L \to L$ by

$$d(x) = \left\{egin{array}{cc} 0 & (x=0)\ a & (x=a,b)\ c & (x=c,1) \end{array}
ight.$$

It is clear that $d: L \to L$ is the derivation of L.

We have fundamental results about derivations of lattices.

Proposition 1. Let L be a lattice and d be a derivation of L. For all $x, y \in L$, (1) $d(x) \leq x$

(2) d(d(x)) = d(x)(3) If $1 \in L$, then $d(x) = d(x) \lor (x \land d(1))$ (4) If $1 \in L$, then $d(1) = 1 \Leftrightarrow d = id_L$ (5) $d(x) \land d(y) \le d(x \land y) \le d(x) \lor d(y)$ (6) $d(d(x) \land d(y)) = d(x) \land d(y)$ (7) If d is monotone, then $d(d(x) \lor d(y)) = d(x) \lor d(y)$ (8) If $d(d(x) \lor y) = d(x) \lor d(y)$, then d is monotone.

We note that the derivation $d_a(x) = x \wedge a$ in Example 1 is monotone. Moreover, any monotone derivation d has just the form of $d(x) = x \wedge a$ for some $a \in L$. In order to prove this fact, we deeply think about properties of monotone derivations.

Theorem 1. For any derivation d, the following conditions are equivalent to each other.

(1) d is monotone;

(2) $d(x \wedge y) = d(x) \wedge d(y) \quad (\forall x, y \in L);$

(3) $d(x) \lor d(y) \le d(x \lor y) \quad (\forall x, y \in L).$

Proof. We only show the cases $(1) \Rightarrow (2)$. The other cases can be proved easily. Since $x \land y \leq x, y$, we have $d(x \land y) \leq d(x), d(y)$. On the other hand, since $d(x \land y) \leq d(x) \land d(y) \leq x \land y$, we get $d(x \land y) = d(d(x \land y)) \leq d(d(x) \land d(y)) < d(d(x) \land d(y)$

 $d(x \wedge y) \leq d(x) \wedge d(y) \leq x \wedge y$, we get $d(x \wedge y) = d(d(x \wedge y)) \leq d(d(x) \wedge d(y))$ $d(x \wedge y)$. Thus $d(x \wedge y) = d(d(x) \wedge d(y))$. It follows that

$$egin{aligned} d(x \wedge y) &= d(d(x) \wedge d(y)) \ &= \{d(d(x)) \wedge d(y)\} \lor \{d(x) \wedge d(d(y))\} \ &= (d(x) \wedge d(y)) \lor (d(x) \wedge d(y)) \ &= d(x) \wedge d(y). \end{aligned}$$

From the result above, a monotone derivation can be characterized as follows.

Theorem 2. Let L be a lattice and $f: L \to L$ be a map. Then (1) $f(x \land y) = f(x) \land y$ ($\forall x, y \in L$) $\Rightarrow f$ is a monotone derivation. (2) f is a monotone derivation $\Rightarrow f(x \land y) = f(x) \land y$ ($\forall x, y \in L$) (3) $f(x \land y) = f(x) \land y$ ($\forall x, y \in L$) $\Leftrightarrow f(x) = x \land f(1)$ ($\forall x \in L$)

Proof. We only show the cases (1) and (2).

(1) Since $f(x \wedge y) = f(y \wedge x) = f(y) \wedge x$, we get $f(x \wedge y) = f(x) \wedge y = x \wedge f(y)$ and $f(x \wedge y) = (f(x) \wedge y) \vee (x \wedge f(y))$, that is, f is a derivation. Moreover, if $x \leq y$ then $f(x) = f(y \wedge x) = f(y) \wedge x \leq f(y)$ and f is monotone.

(2) Let f be a monotone derivation. Since $x \wedge y \leq x, y$, we get $f(x \wedge y) \leq f(x), f(y)$ and $f(x \wedge y) \leq f(x) \wedge y, x \wedge f(y)$ by $f(x \wedge y) \leq x \wedge y \leq x, y$. On the other hand, since f is the derivation, we have $f(x \wedge y) = (f(x) \wedge y) \vee (x \wedge f(y)) \geq f(x) \wedge y, x \wedge f(y)$. This means that $f(x \wedge y) = f(x) \wedge y = x \wedge f(y)$. \Box

Corollary 1. If L has a maximum element 1 then the following conditions are equivalent.

- (1) d is a monotone derivation.
- (2) $d(x) = x \wedge d(1)$ for all $x \in L$.
- (3) $d(x) \leq d(1)$ for all $x \in L$.

Corollary 2. If d is a monotone derivation of L, then $d(d(x) \lor d(y)) = d(x) \lor d(y)$ for all $x, y \in L$.

Unfortunately, the converse of the result above does not hold, namely, d may not be monotone even if $d(d(x) \lor d(y)) = d(x) \lor d(y)$ holds. We have a counterexample. Let $L = \{0, a, b, 1\}$ with 0 < a < b < 1. If we define $d : L \to L$ by d(0) = d(1) = 0, d(a) = d(b) = b, then it is easy to show that d is a derivation and $d(d(x) \lor d(y)) = d(x) \lor d(y)$, but d is not monotone.

Remark 1. A map $f: L \to L$ for a lattice L is called an *interior operator* if

(io1)
$$x \le y \Rightarrow f(x) \le f(y)$$

(io2) $f(x) \le x$
(io3) $f(f(x)) = f(x)$

It follows from our result above that a monotone derivation is an interior operator.

Remark 2. A similar results to our theorem 1 are already proved in [7] as Theorem 3.19 and Theorem 3.21.

Theorem 3.19. Let L be a modular lattice and d be a derivation of L. Then the following conditions are equivalent:

(1) d is a monotone;
(2)
$$d(x \wedge y) = d(x) \wedge d(y)$$
;
(3) If $d(x) = x$, then $d(x \vee y) = d(x) \vee d(y)$,

where a lattice L is called *modular* if

$$x \leq z \Rightarrow x \lor (y \land z) = (x \lor y) \land z \text{ (for all } x, y, z \in L).$$

Theorem 3.21. Let L be a distributive lattice and d be a derivation of it. Then the following conditions are equivalent:

(1) d is a monotone; (2) $d(x \wedge y) = d(x) \wedge d(y);$ (3) $d(x \vee y) = d(x) \vee d(y).$

Our results are stronger than those of above, because our results say that monotone is equivalent to the condition (2) $d(x \wedge y) = d(x) \wedge d(y)$ for all lattice L, namely, we do not assume modularity nor distributivity to get such results.

Moreover, we obtain a following identity condition instead of (3) If d(x) = x, then $d(x \lor y) = d(x) \lor d(y)$ in Theorem 3.19 in [7].

Theorem 3. Let L be a modular lattice and d be a derivation. Then we have d is a monotone $\Leftrightarrow d(d(x) \lor y) = d(x) \lor d(y) \quad (\forall x, y \in L)$

Moreover we prove the converse.

Theorem 4. For any lattice L and derivation d of it, if the condition holds

d is monotone
$$\Leftrightarrow d(d(x) \lor y) = d(x) \lor d(y) \quad (\forall x, y \in L),$$

then L is a modular lattice.

Proof. For every $z \in L$, if we consider a map $d_z(x) = x \wedge z$ then it is a monotone derivation. By assumption, the map d_z satisfies

$$d_z(d_z(x) \lor y) = d_z(x) \lor d_z(y) \quad (\forall x, y \in L)$$

and hence $((x \land z) \lor y) \land z = (x \land z) \lor (y \land z)$. This implies that if $x \le z$ then $(x \lor y) \land z = x \lor (y \land z)$. Therefore L is the modular lattice.

We also have a similar result about distributive lattices.

Theorem 5. Let L be a distributive lattice and d be a derivation. Then we have

$$d \text{ is monotone} \Leftrightarrow d(x \lor y) = d(x) \lor d(y) \ (\forall x, y \in L)$$

Conversely,

Theorem 6. For any lattice L and derivation d of it, if the condition holds

d is monotone
$$\Leftrightarrow d(x \lor y) = d(x) \lor d(y) \ (\forall x, y \in L),$$

then L is a distributive lattice.

The above results provide characterization theorems of modular lattices and of distributive lattices in terms of derivations.

Remark 3. If d is a monotone derivation then a subset

$$\operatorname{Fix}_d(L) = \{ x \in L \, | \, d(x) = x \}$$

of L is an *ideal* of L, that is, $Fix_d(L)$ satisfies the conditions

(I1) $0 \in \operatorname{Fix}_d(L)$ (I2) $x \in \operatorname{Fix}_d(L), y \leq x \Rightarrow y \in \operatorname{Fix}_d(L)$ (I3) $x, y \in \operatorname{Fix}_d(L) \Rightarrow x \lor y \in \operatorname{Fix}_d(L).$

3 Generalized derivations

Some types of derivations, such as generalized derivation, generalized (f, g)derivation and f-derivation, are defined and properties of them are considered in [1, 2, 3]. We only treat generalized derivations according to [1]. A map $D: L \to L$ is called a generalized derivation if it satisfies the condition: For a derivation d,

$$D(x \wedge y) = (D(x) \wedge y) \vee (x \wedge d(y))$$

We get basic results about a generalized derivation D without difficulty.

Proposition 2 (cf. Proposition 3.4, 3.9 [1]). Let d be a derivation and D be a generalized derivation. Then we have

(1) $d(x) \le D(x) \le x$ (2) D(D(x)) = D(x)(3) $D(x) \land D(y) \le D(x \land y)$ (4) $D(x) \land D(y) = D(D(x) \land D(y))$ (5) $D(x) = d(x) \lor (x \land D(1))$

We also have a new result about a generalized derivation D.

Proposition 3. Let d be a derivation and D be a generalized derivation. Then we have $D \circ d = d \leq d \circ D$

It follows from our result that a characterization theorem about monotone generalized derivations can be proved similarly.

Proposition 4. (Proposition 3.12 [1]) For a generalized derivation D, the following conditions are equivalent to each other:

(1) D is monotone;

(2) $D(x \wedge y) = D(x) \wedge D(y);$

(3) $D(x) \lor D(y) \le D(x \lor y);$

(4) $D(x) = x \wedge D(1)$ if L has a maximum element 1.

Proposition 5. If L has a maximum element 1, then any generalized derivation D has a following form

$$D(x) = (D(1) \land x) \lor d(x)$$

Corollary 3. $D(1) = 1 \Leftrightarrow D = id_L$

Lemma 1. If L has a maximum element 1 and $d(x) \leq D(1)$ for all $x \in L$, then

$$D(x) = x \wedge D(1)$$

In this case, the generalized derivation D is monotone. Conversely, if D is monotone then $d(x) \leq D(1)$ for all $x \in L$. Therefore, we have another characterization of monotone generalized derivations.

Theorem 7. For any generalized derivation D,

D is monotone $\Leftrightarrow d(x) \leq D(1)$. $(\forall x \in L)$

Corollary 4. If d is monotone, then so D is.

We may ask whether the converse holds, that is, if a generalized derivation D is monotone then so d is ?

Unfortunately, this does not hold by the following example.

Example 3 Let $L = \{0, a, b, 1\}$, (0 < a < b < 1) and $d, D : L \to L$ be maps defined by

$$d(x) = \begin{cases} 0 & (x = 0, 1) \\ a & (x = a, b) \end{cases}$$
$$D(x) = \begin{cases} x & (x = 0, a, b) \\ b & (x = 1) \end{cases}$$

It is easy to show that d is a derivation and D is a generalized derivation. Moreover D is monotone. However, it is obvious that d is not monotone.

In the previous section, we provide characterization theorems of modular lattices and of distributive lattices in terms of derivations. We also have similar results about generalized derivations.

Theorem 8. For any lattice L and generalized derivation D of it, if the condition holds

$$D \text{ is monotone} \Leftrightarrow D(D(x) \lor y) = D(x) \lor D(y) \ \ (\forall x, y \in L),$$

then L is a modular lattice.

Proof. For every $z \in L$, if we define maps d_z and D_z by $d_z(x) = x \land z = D_z(x)$ for all $x \in L$. It is clear that d_z is a derivation and D_z is also a generalized derivation. Since D_z is monotone, it follows from assumption that $D_z(D_z(x) \lor y) = D_z(x) \lor D_z(y)$ and thus $((x \land z) \lor y) \land z = (x \land z) \lor (y \land z)$. This implies that if $x \leq z$ then $(x \lor y) \land z = x \lor (y \land z)$. Therefore L is the modular lattice. \Box

Theorem 9. (Theorem 3.14 [1]) Let L be a distributive lattice and D be a generalized derivation. Then we have

$$D$$
 is monotone $\Leftrightarrow D(x \lor y) = D(x) \lor D(y) \ (\forall x, y \in L)$

Conversely,

Theorem 10. For any lattice L and generalized derivation D of it, if the condition holds

$$D \text{ is monotone} \Leftrightarrow D(x \lor y) = D(x) \lor D(y) \ (\forall x, y \in L),$$

then L is a distributive lattice.

The above results provide characterization theorems of modular lattices and of distributive lattices in terms of generalized derivations.

References

- N. O. Alshehri, Generalized derivations of lattices, Int. J. Contemp. Math. Sciences vol.5 (2010), 629-640.
- [2] M. Aşci and Ş. Ceray, Generalized (f, g)-derivations of lattices, Math. Sciences and Applications E-note vol.1 No.2 (2013), 56-62.
- [3] Y. Çeven and M. A. Oztürk, On f-derivations of lattices, Bull. Korean Math. Soc. vol.45 (2008), 701-707.
- [4] L. Ferrari, On derivations of lattices, Pure Mathematics and Applications vol.12 (2001), 365-382.
- [5] E. Posner, Derivations in prime rings, Proc. Am. Math. Soc. vol.8 (1957), 1093-1100.
- [6] G. Szász, Derivations of lattices, Acta Sci. Math. (Szeged) vol.37 (1975), 149-154.
- [7] X. L. Xin, T. Y. Li and J. H. Lu, On derivations of lattices, Information Sciences vol.178 (2008), 307-316.

Mayuka F. Kawaguchi Graduate School of Information Science and Technology Hokkaido University, Sapporo 060-0814 Japan E-mail address: mayuka@ist.hokudai.ac.jp Michiro Kondo School of Information Environment Tokyo Denki University, Inzai 270-1382 Japan E-mail address: mkondo@mail.dendai.ac.jp